ZAIPOZ / ZSAIPOZ

» AI{ERSEEERISTAE FLBY

m Spring Anchors - Wrench Flats

CIE S B Type+D-L Part Number Type+D-L
fltn ZASPO3-10 order ZASPO3-10
ZASPO / ZSASPO ZAIPO / ZSAIPO
L 90° ‘
90° - M Y |

-
& 5T
T/ Elii

TN I T

F

.t

s R RELLE Bk
Type Material Surface Treatment Nut
ZASPO S45C %&EBlack Oxide Black Nut 1 PCS
ZSASPO SUS303 / SUS304 Nut 1 PCS
ZAIPO S45C %&EBlack Oxide Black Nut 1 PCS
ZSAIPO SUS303 / SUS304 Nut 1 PCS
ZAIPOZ S45C & EBlack Oxide Black Nut 1 PCS
ZSAIPOZ SUS303 / SUS304 Nut 1 PCS

SHVIERFE (Specifications)

Bzt Part Number
M { F H T d
Type D L
3 10 15 20 25 30 35 40 3*0.5 10 3 1 12| 15
4 15 20 25 30 35 40 50 4*0.7 10 3 1 1.2 2
5 15 20 25 30 35 40 50 5*0.8 10 5 2 1.2 2
ZASPO 6 20 25 30 35 40 45 50 60 6*1.0 16 5 2 1.2 2
ZSASPO ; ;
8 20 25 30 35 40 45 50 60 70 M8*1.25 20 6 25 [ 1.2 3
10 | 30 35 40 45 50 60 70 M10*1.5 25 7 251 12 4
12 | 40 50 60 70 M12*1.75 | 30 9 25 [ 1.8 6

SHFIARFE (Specifications)

Bz{Part Number
M d W G E F h
Type D L
3 10 15 20 25 30 35 40 3*0.5 15| 15| 3 3 15| 0.2
4 15 20 25 30 35 40 50 4*0.7 15| 25 5 351175( 0.3
5 15 20 25 30 35 40 50 5*0.8 2 3 5 4 2 |04
ZAIPO -

ZSAIPO 6 20 25 30 35 40 45 50 60 6*1.0 2 3.5 5 25| 05

8 20 25 30 35 40 45 50 60 70 M8*1.25 3 5 7 3.5 1
10 30 35 40 45 50 60 70 M10*1.5 4 5 10 1.2
12 35 40 50 60 70 M12*1.75 5 5 12 5 14

SHXIBRFR (Specifications)
Bzt Part Number
M d W E F h
Type D L
3 10 15 20 25 3*0.5 15| 15 3 15| 02
4 10 15 20 25 30 4*0.7 15] 25| 35 (175 0.3
5 10 15 20 25 30 35 5*0.8 2 3 4 2 0.4
ZAIPOZ -

ZSAIPOZ 6 15 20 25 30 35 45 6*1.0 2 3.5 25| 05

8 15 20 25 30 35 45 55 65 M8*1.25 3 7 3.5 1
10 | 25 30 35 45 55 65 M10*1.5 4 10 4 1.2
12 | 45 55 65 M12*1.75 5 7 12 14




» FFOFL B E ST
mSpring Anchors - Wrench Flats, with

c=s I AU Type+D-L Part Number Type+D-L
fusn ZAIPOK4-15 order ZAIPOK4-15

L

1
"—

d
K
}80 {Ey
h F
E G

#AERIERE ( Materials )

Be W& EEALE Bt

Type Material Surface Treatment Nut
ZAIPOK S45C %&EBlack Oxide Black Nut 1 PCS
ZSAIPOK SUS303 / SUS304 Nut 1 PCS

SHIIERZE (Specifications)

Bzt Part Number
M| d|d|wW]| G| E F h
Type D L

4 15 20 25 30 M4| 15| 1 [25] 5 | 35([175] 03
5 15 20 25 30 40 M5 | 2 1 3 5 (4| 2|04
ZAIPOK | 6 20 25 30 40 50 M6 | 2 1 [35]( 5 5 [ 25] 05

ZSAIPOK | 8 25 30 40 50 60 70 M8| 3 | 15| 5 5 7 |35 1
10 30 40 50 60 70 Mi0| 4 | 2 6 5 (10 4 |12
12 40 50 60 70 M12| 5 [ 25| 7 5 (12| 5|14

n FI{ERES ST I/ AR R

m Spring Anchors - Socket Head Cap Screw

GO B Type+M-L Part Number Type+M-L
fian ZARPO4-15 order ZARPO4-15
0

L-os

E+op
BS MR RESE Bt
Type Material Surface Treatment Nut
ZARPO S45C & BBlack Oxide Black Nut 1 PCS
ZSARPO SUS303 / SUS304 Nut 1 PCS

SHIEEFR (Specifications)

Bzt Part Number

r— v - d | D|E|F|Aal|B]|H
4 15 20 25 30 15 3 3 15 7 3 4

5 15 20 25 30 35 40 2 3.8 4 2 8.5 4 5

ZARPO | 6 20 25 30 35 40 2 |45 4| 2|10 5| 6
ZSARPO 8 20 25 30 35 40 50 3 161 7 [35] 13 6 8
10 30 35 40 50 60 4 7.8 | 10 4 16 8 10

12 40 50 60 5 95| 12 5 18 10 12




» AI{ERSEEERISTAE 7 mEY

m Spring Anchors - Hexagonal

L= B Type+B-L

Bign ZDSPO3-10

Type+B-L

Part Number
order

ZDSPO3-10

Y ~
1~ [ 1= T2
|
n B
s R RELE
Type Material Surface Treatment
ZDSPO SUM22 & 2FBlack Oxide
ZPDSPO SUM22 #E$ENickel Plating
S¥IIERR (Specifications)
Bzt Part Number
M [ © ? A F d
Type B L
3 10 15 M3 | 35| 6 1 3 118
4 10 15 20 M4 46| 8 [ 12| 3 2
5 10 15 20 M5 58| 10 [ 2 4 3
ZZP?DSSPF% 6 10 15 20 25 M6 | 69 | 12 3 4 | 36
8 10 15 20 25 30 M8 92| 16 | 3 4 5
10 15 20 25 30 M10{11.5]| 20 | 3 4 6
12 20 25 30 M12(139]| 24 | 4 4 | 65




» AI{ERSEEE FISTAE MBS

m Spring Anchors - Flat Head Screwdriver Type, with Groove

CIE S B Type+D-L Part Number Type+D-L
Bign ZBSPO3-15 order ZBSPO3-15

ZBSPO / ZSBSPO ZBSPOZ / ZSBSPOZ
THT ' THT
I—}f ngr ﬂ~— — = |—% ol|- ﬂ ————————————————————————
FIAL { F AL
L L
HMEYIERR (Materials )
ns IR REIE Wit
Type Material Surface Treatment Nut
ZBSPO S45C & ZBlack Oxide Black Nut 1 PCS
ZSBSPO SUS303 / SUS304 Nut 1 PCS
ZBSPOZ S45C & ZBlack Oxide Black Nut 1 PCS
ZSBSPOZ SUS303 / SUS304 Nut 1 PCS
SHIIERZE (Specifications)
Bzt Part Number
M { A F H T d
Type D L
3 15 20 25 30 35 40 M3 | 10 1 3 1 12| 18
4 15 20 25 30 35 40 50 M4 | 10 | 1.2 3 1 1.2 2
5 15 20 25 30 35 40 50 M5 | 10 2 4 2 1.2 3
ZBSPO
ZSBSPO 6 15 20 25 30 35 40 45 50 60 | M6 | 16 3 4 2 12 | 36
8 20 25 30 35 40 45 50 60 70 | M8 | 20 3 4 25 [ 1.2 5
10| 30 35 45 50 60 70 M10| 25 3 4 251 12 6
12 | 40 50 60 70 M12| 30 4 4 25| 1.8 | 65

S#FIARZE (Specifications)

Biz{Part Number
M A F H T d
Type D L
3 10 15 20 25 M3 1 3 1 12 | 18
4 10 15 20 25 30 M4 | 1.2 3 1 1.2 2
5 15 20 25 30 35 M5 | 2 4 2 1.2 3
ZBSPOZ
ZSBSPOZ 6 20 25 30 35 45 M6 3 4 2 12| 3.6
8 25 30 35 45 55 65 | M8 3 4 251 1.2
10 | 30 35 45 55 65 M10| 3 4 25| 1.2 6
12 | 35 45 55 M12| 4 4 251 18| 65




w RIS AT LAY
m Spring Anchors - L-Shaped, Hole

CIE S B Type+D-L Part Number Type+D-L
Bign ZASPL3-10 order ZASPL3-10

ZASPL / ZSASPL ZBSPL / ZSBSPL
- -
$ \. A Ia
&\ _
\‘ _
{ {
L K L K
s MR FEaE Bt
Type Material Surface Treatment Nut
ZASPL S45C & BBlack Oxide Black Nut 1 PCS
ZSASPL SUS303 / SUS304 Nut 1 PCS
ZBSPL S45C &BBlack Oxide Black Nut 1 PCS
ZSBSPL SUS303 / SUS304 Nut 1 PCS
BIztPart Number M « . A F d
Type D L ZASPL/ZSASPL ZBSPL/ZSBSPL ZASPL/ZSASPL ZBSPL/ZSBSPL
3 10 15 M3 | 20 10 1 3 15 15 1.8
ZASPL 4 15 20 25 (M4 | 20 10 | 1.2 3 3 2 2
zsaspL | 5 |20 25 30 | M5 [ 20 | 10 | 2 5 4 2 3
6 20 25 30 | M6 | 30 16 3 5 4 2 3.6
ZBSPL [ g | 25 30 M8 | 40 | 20 | 3 6 4 3 5
ZSBSPL 10 | 30 40 M10| 50 | 25 3 7 4 4 6
12 | 30 40 M12| 60 30 4 9 4 6 6.5




w MERBRSE— iR MR — iR PR Y
= Small Diameter Hex Posts - Both Ends Tapped

p =l 7 Type+B-L Part Number Type+B-L
Bign ZBSLCB4-5 order ZBSLCB4-5

ZBSLCB / ZPSLCB / ZSLCB ZBSLCG / ZPSLCG / ZSLCG
( w/_ N
/1 r ’;

~~ i
)
~

&SRR (Materials )
BE=Type
" —msMEs iRy | MR RELHE
B :ﬁgmf%gx d One End Threaded, Material Surface Treatment
oth Ends Tappe One End Tapped
ZBSLCB ZBSLCG SuJ2 & ZBlack Oxide
ZPSLCB ZPSLCG SuJ2 &= Nickel Plating
ZSLCB ZSLCG SUS303 /
SHFIARZE (Specifications)
BIz{Part Number
M ©
Type B L
ZBSLCB
4 5 6 7 8 9 10 15 20 X
ZPSLCB M2 46
ZSLCB
5 5 6 8 9 10 15 20 M2.5 5.8
ZBSLCG
ZPSLCG
ZSLCG 5.5 5 6 8 9 10 11 12 13 14 15 16 17 18 20 | M3 6.3

[ ! 1BR4/5{XSLCB/SLCGIEA.

[ ! 1B Size 4/5 is suitable for SLCB/SLCG only.

[ ! IRSRPUESEIL<MX6RT , RFLATEESRIE.

[ ! IWhen the internal thread L<MX6 at both ends, the bottom hole may be through.
[} | —SRIMES—IRPIREE! | LRIA5AT , PIESURT 3 ; LRI J6RT , PIRSURT 4.

[ ! 10ne male one female, for 5 L size, the internal thread £ size is 3; L size is 6, internal thread £ size 4.




ZLSBRK / ZPLSBRK / ZLSBRK

M*2

M*2

ZLSBRK6-15

w MERBRSE— iR MR — iR PR Y
m Hex Posts - Both Ends Tapped
I B, Type+B-L

BEx Part Number
Bign order

Type+B-L

ZLSBRK6-15

ZLSBWRK / ZPLSBWRK / ZSLSBWRK

M*2

M*1.5

M M
/ y
o = T \
B A A R ] I
et e sl A
L M/:Max.,
#AEIERE ( Materials )
S Type
" —imgMER—iRREy | MR REAE
B :ﬁgmf%gx d One End Threaded, Material Surface Treatment
oth Ends Tappe One End Tapped
ZLSBRK ZLSBWRK SuJ2 #EBlack Oxide
ZPLSBRK ZPLSBWRK SuJ2 $E4ENickel Plating
ZSLSBRK ZSLSBWRK SUS303 /
S#FIERZE (Specifications)
Biz{Part Number
M | ©
Type B L
6 |15 20 25 30 35 40 45 50 M3 | 6.9
7 |20 25 30 35 40 45 50 60 70 80 90 100 110 120 130 140 150 M4 | 8.1
ZZ;'LSSBBRRKK 8 |20 25 30 35 40 45 50 60 70 80 90 100 110 120 130 140 150 200 | M5 | 9.2
ZSLSBRK 10 | 25 30 35 40 45 50 60 70 80 90 100 110 120 130 140 150 200 M6 | 11.5
12|25 30 35 40 45 50 60 70 80 90 100 110 120 130 140 150 200 M6 | 13.9
ZLSBWRK 13 |35 40 45 50 60 70 80 90 100 110 120 130 140 150 200 M8 | 15
ZPLSBWRK
ZSLSBWRK 14 | 35 40 45 50 60 70 80 90 100 110 120 130 140 150 200 M8 | 16.2
17 | 40 45 50 60 70 80 90 100 110 120 130 140 150 200 M10| 19.6
19 |50 60 70 80 90 100 110 120 130 140 150 200 M12| 21.9




n BT MimPISRaE

= ' m Circular Posts - Both Ends Tapped with Standard Wrench Flat
CIE S B Type+D-L Part Number Type+D-L
| fugn ZETKR6-15 order ZETKR6-15

ZETKR / ZPETR / ZSETR ZETKGR / ZPETGR / ZSETGR

NS & M D:. M s_u M D,

M*2 M*2

M*1. 5

HE3SERZE (Materials )

BSType

—iRI MBS — IR PR R RELLE

PALHPIREL One End Threaded, Material Surface Treatment
Both Ends Tapped

One End Tapped

ZETKR ZETKGR SuJ2 & ZBlack Oxide
ZPETR ZPETGR SuJ2 &= Nickel Plating
ZSETR ZSETGR SUS303 /

SEXIERZE (Specifications)

Biz{Part Number
Type D L
6 [ 15 20 25 30 35 40 45 50 M3 | 35| 5 8
8 20 25 30 35 40 45 50 60 70 80 90 100 110 120 130 140 150 200 | M4 6 7 8
10 | 20 25 30 35 40 45 50 60 70 80 90 100 110 120 130 140 150 200 M5 | 6 8 8
12 | 25 30 35 40 45 50 60 70 80 90 100 110 120 130 140 150 200 M6 [ 75| 10 10
15| 35 40 45 50 60 70 80 90 100 110 120 130 140 150 200 M8 | 10 13 10
201 40 45 50 60 70 80 9 100 110 120 130 140 150 200 M10| 15 17 10

M S w | 1

ZETKR ZETKGR
ZPETR ZPETGR
ZSETR ZSETGR




» EETEMY

m Turnbuckle Components - Chain Fastener, Standard, Long

L= BT Type + AFRRY Part Number Type + Nominal size
Blan ZSRC-R15 order ZSRC-R15

M (B TEBRLL 3 o it s0)
M(Right or Left handed thread)
B1 / H
A VD /
| ( Y i
\ Y
L) L
NN L
c L2
B2 L

1 REYIEEZE ( Materials )

BSType
frERIStandard InEELong TS & B EERNE
PoT P PoT Parts Material | Hardness Surface Treatment
Right-Hand Thread Left-Hand Thread Right-Hand Thread
ZSRC-R ZSRC-L ZLSRC-R F{KBody S45C 35~40HRC A& 2Black Oxide
ZSRC-R ZSRC-L ZLSRC-R I2IEN Ut SS400 / A& EBlack Oxide
ZSRCS-R ZSRCS-L / ZE{KBody SUS303 / /
ZSRCS-R ZSRCS-L / I2IEN Ut SUS304 / /
BIz{Part Number BAHEKN  Max. Load (kN)
TEE A EOESZ N RS M L1 L2 L C D B1 B2 H
Type A;ﬁc':ﬁ’s:;ﬁ‘fcﬂgm SRC-R/L SRCS-R/L
15 3 10 | 12 | 206 22 | 1.7 | 34 6 1.8 0.44 /
25* 4 |165| 18 | 282 3 24 | 48 7 24 0.78 0.68
i:iﬁ-f 35+ 6 |235| 25| 40 [ 45|37 |74 10|36 1.96 157
ZSRCS-R 40* 8 31 | 33 [525(| 6 4 111.2| 13 5 3.53 2.84
ZSRCS-L 50* 10 | 39 | 41| 65 | 75| 5.2 (138 17 6 5.68 451
60 12 | 47 | 49 | 78 9 6 |17.8( 19 7 8.23 6.57
80 16 | 57 | 60 | 98 | 12 8 [226| 24 | 10 154 12.3

[ ! ISRCS-RIEBEAFRR Y15, SRCS-L9 * fFEHIRY.
[ 1115 is not available for SRCS-R. SRCS-L is available for sizes marked with * only.

S#FIARZE (Specifications)

B5{Part Number
= ﬁ >
EEEREEATRT | M L1 | L2 L C D Bl | B2 H BTN
Type - . Max. Load (kN)
Applicable Roller Chain
25 6 35 | 38 |482| 3 (24 (48| 7 | 36 1.96
35 8 50 | 54|69 |45(37|74] 10 5 3.53
40 10 | 60 | 64.5| 84 6 4 |11.2] 13 6 5.68
ZLSRC-R

50 12 | 65| 71 [ 95 | 75| 52 | 13.8]| 17 7 8.23
60 16 | 100 | 106 [ 135 | 9 6 [17.8]| 19 | 10 154
80 20 | 119 | 127 | 165 | 12 8 [226( 24 | 12 26.1

[ ! IE N ESHRNEITR.

[ ! IPlease check the Allowable Tension of the paired chain.



